Apache TomcatU U O OO OO PDFOOOOOOOOOO
OO0O0ooooo
https://www.100test.com/kao_ti2020/244/2021 2022 _Apache _Tom
€103 244527.htm 0 O 0O 0O O O O Tomcat workertd OO OO O O
O webserverd OO 0O Oservletd TomecatU DO OO0 OO OO0
[J 0O Apacheld 0 O webserverld Osevlet O O OO 0OOOO O
OTomcatU OO0 O OO0OO0OOOOworkerD OOOOOOO
000000000 workerd loadbalanced OO U U O O 0O O
O workerd O O Oloadbalancel D OO0 O OO0OO O O

O Tomcatworkers OO O 0O0O0O0OCOCOOOOOOOO0OO0OO
O 0 0O O O O Tomceat workerst] O [ web serverl] [0 [ servlet[]
O000ooooooooooooooooono *xogn
O000000000 Tomcatworkers D OO O0O0OOOO
O00000000000000000webserverd OO0
OTomcatworkeD OO0 OO OOOOOO0O*0000OO
OTomcatU OO0 0 OO0OO0OOO0O00O0OOO0OOOO0OOO
OO0O000OwebsiteD OOOOOOwebsited O0OO0OOOOO
O*00000000Owebsite0 00 00O000OO0O0ONO

[J Tomcat workers] [0 O 0 Tomcatworkerdd O O O 0O 0O 0O 0O O
Oworkers O OO O0O0Owebserverd DO OO0OO0O OOOO
OO0O0000000000000O0workers OO0 OO O
1 workers.propertiest] [ O O O O 0O Tomcat workers [0 [ [
apacheOconfU O OO OOOOO* workers.properties” [
D0o0o00ooooodooooooondo 1.0 0 Workers
000 O0Oworkerstd U 0O O O O apacheld confld O O O O O
[J workers.propertiesd] O 0O 0O O 0O Oapached OO OO OO0



O O O workerstd OO O 0O O O worker.list =0 [0 O worker.list=
workerl, worker2 [ apachel] [ [ [J workers.propertiest] [1 [ [
000000 Oworker.listtd O O O workerstd 2.0 [0 Workers[
D00 0o0ddddwerkerd OO0 OoO0Oooooon
Jod0odododOworkerD OO0 OO0 O00ooooooo
00 0JK1.2.50 0 O O workerstd O O 0O O workerd O O 0O [
[ worker . workerd [ . type =workerd O O O 0O O OO O java
Dod0o00O0workerDOOOOOUOOUOOOODODOOOO
“ local” [ workerd OO O O apv120 O O Tomcat U O U O O
worker.local.type=ajpl2 U 00 O OO OO OO “ remote” [ worker(] [
[ O ajpv130 O O Tomcat U O O OO O worker.remote.type=ajp13
Oooood* fast” Oworkerd O O O JNIO O O O Tomcat
00000 worker.fast.type=jni J O O O O O* loadbalancer”
OworkerUDOOOOOTomcat U OO OO OOOOO
worker.loadbalancer.type=lb 0 D 0 0D 00000 O00OO0OOO
Do00000000 3.00Workertd OO OO O workerd [
Jod0odod0Oworkerd DO O0ooooooooo
O 0O 0O 0O worker..=3-1ajp120 0O O Workerd O U ajpl20 O

[ worker] U OO O O OO OO TCP/IP socketl ajpv120] U 0O O O O
% OO0 Tomcat workerd ajpl2 worker(] [ [ [J [0 host[]
[ O qypl20 O O Tomcat workerl] [ [ portl] Tomcat workerl]
OO000000 Ibfactordd O 0O Tomcat workerd [0 [ 00 [ OO0 [
OO0workerD OO O OOOOOOOOOOOO O worker [
Dod0odoooooono® workerl” OO OOOO

O www.x.comU [0 O O Tomcatd O O [0 80070 O U [0 apacheld
Jodododozs500000



worker.workerl.host=www.x.comworker.workerl.port=8007worke
rworkerl.lbfactor=2.50 0 0 O apvi20 0000000 OO O
Jodododouououooonoonoonoseord 3-2
ajpl30] U O Workerd 0O O ajpl30 O O workerd OO 0O 0O O O
O TCP/IPsocketU qpvi30 OO0 OO OO* OOO” Tomcat

worker] 100Test U D OO0 OO0 OO0 ooooOnd
(OO 0O www.100test.com



